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1.2 —fMaE S S ABR R .
Si + 4HF ==SiF, +2H, 1
Si +2NaOH + H,0 ==Na,Si0, +2H, 1
Si0, +4HF SiF, T +2H,0(
)
Si0, + 2NaOH ==Na,Si0, + H,0(
)
2. B 5 B A B (GRARBR AN BR) 3R AR

A
S +2H,80,( )===3S0, 1 +2H,0

A
3S + 6NaOH ===2Na,S + Na, S0, +3H,0
3.RE R (RN b5 R R

Cl, + H,S==S | +2HCl

053400

NH; + OH ===NH, 1 +H,0

5. BRI LRI RBR

HCO; + H*=—=C0, T +H,0

HCO; + OH =—=CO0: +H,0

6. TR MR & (AR . LA AR
BR 3E) B iR ER A AALES ( A RALA) IEIR BT

Na,CO, +2HCl ==2NaCl + CO, T +H,0

Na,CO, + Ca( OH) , =—=CaCO, | +2NaOH

7R ( AARER BB BRIR) 5 A&
AR BR ( IRFFBR A BR) AR o

H,S+H,80,( )=—=S| +S0,7T +2H,0

H,S +2NaOH ==Na,S +2H,0

D2HI + H,80,( ) =1, +S0, T +

2H,0
HI + NaOH =—=Nal + H,0
8. TR AR B B RARER VAR
Cu** +H,S==CuS | +2H"

CL, +2NaOH =—=NaCl + NaClO + H,0 Cu®* +20H"==Cu( OH) , |
4. 5o a4 3 5 SR BR TR AR 288" + H,S==Ag,S | +2H"
(NH,) ,S +2HCl==H,S 1 +2NH,Cl Ag" + OH™ ==AgOH | ( AgOH >
» 10 mol /n 55.
(Z)n—+Zzn /n M
2 . 0.84 ( H,S.H,0.
=6x107 mol  m(Zn) =6x1077 x65 g * mol "' = N,) 77%
3.9x107 ¢g=3.90 mg C ; S0, ( ) o
1.2 x10 “mol D . 1 Co N, 0.79.0, 0.21,
12 ) 54. 154.2934.4 +22.4 =131 mol  Fe,0,

3FeS, +80, —Fe, 0, + 650,
4FeS, +110, —2Fe,0, + 850,
48 mol FeS,

( )

2934.4 L

Fe,O, Fe,0,

a mol Fe,O, b mol 3a +2b =48;8a +115/2 =131
a=4 b=18. n(Fe,0,): n(Fe,0,) =2: 9

55. 1 0. 84
0. 84 0. 84
1.26 . 1.26 +0.21
x1.77 =10.26 ©(S0,) =0.84 = (10.62 -

1.26 +1.84) =0.075 ( 12014 -09 -01)
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A, Ni(s)  Ni(CO),(g
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2 (2013 )
D
, 50C
) (DNi('s) +4CO( g) ==Ni( CO) ,(g) +Q
) 230C .
@Ni( CO) ,( g) ==Ni( s) +4CO( g)
HE)
> Ag,0) BR) \BREJL
O. T Ma 5L RHER (AR AR A

BR) AR o
2Fe’" + H,S =—=2Fe’" +S | +2H"
Fe’* +30H" Fe( OH) , |
10. 3T 7 0 T2 4k 35 55 Bfb b BR (IR AR BR AN

2FeSO, +2H,50,( )
Fe,(S0,), +S0, 1 +2H,0

=——Fe( OH), |
( 12014 -09 -01)

Fe** +20H"



